
1

15

6

?

2

3

12

10

11

ITEM NO. PART NUMBER QTY.
1 track platform 2

2 Bracket Securing 
Platform For Nut 2

3 Bracket Securing 
Platform For Screw 2

4 ISO - 4034 - M5 - S 2

5 ISO 10642 - M5 x 25 - 
25C 2

6 Under Track Bracket 4

7 ISO 4029 - M5 x 8-S 4

8 Screw 20mm 16
9 support 4

10 Split Collar Bracket 2

11 support inner 4

12 1.500 (40mm) 4

13 ISO 4029 - M5 x 10-S 4
14 Clamp Support 4

15 ISO 10642 - M3 x 16 - 
16C 4

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:1:5 SHEET 1 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



 
77

2 

 2
21

.7
8 

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:1:8 SHEET 2 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



 R386 
 R356 

 3
0 

 4
5°

 

A

B

 13 

4 x  3.60 THRU ALL
 6.30 X 90°

DETAIL A

SCALE 1 : 1

 1
8 

4 x  3.60 THRU ALL
 6.30 X 90°

 6 

DETAIL B

SCALE 1 : 1

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:1:5 SHEET 3 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



2 x  4.80 THRU ALL
 9.40 X 90° For wood screws 19 

 8 

 7
 

2 x  4.20 THRU
M5 Grub Scew for securing support

 64 

 10
 

 70
 

D

2 x  8.50 THRU
@30degrees

VIEW D
The collar will work for a small tree.
 2 X 8.5mm  drilled at 30 degrees for the steel supports 
with two M5 holes beneath for secureing the supports.
The holes for the wood screws are intended such that 
the screws will secure to the tree itself,

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:1:1 SHEET 4 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



 3
00

 

 8 
 6 

E

9

 5 

 3
00

 

11

 1
0 

 3.50 

DETAIL E

SCALE 2 : 1

 1
6  

8 

 3
 

2.50
M3 Thread

 1
0 

 20 

 3.60 THRU
 6.30 X 90°

14

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:1:2 SHEET 5 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



 30 

 1
8 

 60° 

 1
0 

 4.20 THRU

 5.50 THRU ALL

 15 

2 x  3  10

 1
3 

 2
6 

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:2:1 SHEET 6 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



 5.80 THRU
 10.40 X 90°

 30 

 1
8 

 R10 

 18 

 1
2 

2 x  3  10

8 4 c'bore
 5.8 THRU

2

3

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

TITLE:

DWG NO.

SCALE:2:1 SHEET 7 OF 8

A4

WEIGHT: 

Tree Train
A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1



4

9 15
14

11
8

1

3

5

6

7

2

13

12

10

ITEM NO. PART NUMBER QTY.
1 track platform 2

2 Bracket Securing 
Platform For Nut 2

3 Bracket Securing 
Platform For Screw 2

4 ISO - 4034 - M5 - S 2

5 ISO 10642 - M5 x 25 - 
25C 2

6 Under Track Bracket 4

7 ISO 4029 - M5 x 8-S 4

8 Screw 20mm 16
9 support 4

10 Split Collar Bracket 2

11 support inner 4

12 1.500 (40mm) 4

13 ISO 4029 - M5 x 10-S 4
14 Clamp Support 4

15 ISO 10642 - M3 x 16 - 
16C 4

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1


	Tree Train Mount Isometric View BOM
	Drawing View1

	Tree Train Mount Basic Dimensions
	Drawing View2
	Drawing View3
	Drawing View4

	Track Platform
	Drawing View9
	Detail View A (1 : 1)
	Detail View B (1 : 1)

	Split Collar Bracket
	Drawing View13
	Drawing View16
	Drawing View17
	Drawing View18

	Supports and clamp
	Drawing View19
	Drawing View20
	Detail View E (2 : 1)
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25

	Track Platform Bracket
	Drawing View26
	Drawing View27
	Drawing View29
	Drawing View30

	Track Platform securing brackets
	Drawing View31
	Drawing View32
	Drawing View34
	Drawing View35
	Drawing View37
	Drawing View38

	Exploded View With BOM
	Drawing View39


